7'02
88-240 M22)7 NPINININNT MNNWWN
8 2NN

IINAD NRNYND TPYRID 25200 MPIN 2NV SYW NNSI MNIND RN¥D .1

y/l+xy —

y// —l‘Qy —_
y'+(r—1)y —y
y//+x2y/ _ 4xy

o O o O

MPNN NV DX 2
Yy = Z apx"
n=0
9’82’8 INNWN DY PINS XD
(1—2*)y" =2y +cy=0

79 ¢ V2PN 9Y ORINN NN NS 1 @, DNTPHN DHYPRY PONPIN NI (P ¢ )
8 YTON MINNAN NN NN K¥D 2DV NINS PPV

TIN2D TINNWKDN DY 5501 NININ NN N8N .3

22y —dxy' +6y = 0
/

22y —3zy' +4y = 0

(1+2)%" =31 +a)y +4y = 0

(

(1+2)y" —31+a2)y +4y = (1+x)°

NN N9 TNR VW W a(a — 1) + aa + b = 0 TN IRNYND DRY NN (X) 4
AN NNNWN OV 25550 NINN

22y" + axy + by =0

N
Yy = SCQ(Cl -+ 02 IHSC)
DY1Ip 0N Cy, Cy TN
,3 770N AN IRNYN DY NN RIN y = 2% -¥W TI a JY ONINND XD 1IN Q)

3 m

23y" + ax’y” +bxy +cy =0

! (VAP a,b,c)



YOW M0 DTPN PYOIN 3 TTON NN IXNIWR SV 5991 PINSN DX 2D O)
TINSY SNIND
DWW DOPYUNN DWW 3 i
DTINN DXA2ID DXWNY MM THN SWIND WV i
9192 B TN, DPWHN DYNY MY i

-3219 10 DYIDNPON MTPINND NPXR TIRAND MMINNWN OV 17PIAONPON MTPIN NN NN 5
'y

xy//+2y/+3y —

o2y + 22y +3y =
ny//+2y/+3xy —

(1—2*)y —ay +n’y =

o O O O

MNONNA



